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  ::��س ا���>;��!�5=� )  3                                                                         

: H��-� (أ               
� ا���>;�� ا������ �;	�ا�D و ا���>;�� �C �2 ا���ق�IN ن��ت ا��� 5I����;� �
]	��C ^س ا���>;�� إ��=C ل آ��������� ��� ���5 ^
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C −
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  �U�	(ا������ D���	ا� Q;�: s200   B=�م C=��س 
�>;�� ا���;�ل C-# آ�
2000 1800 1600 1400 1200 1000 800 600 400 200 0 )(st  

1,955 1,955 1,905 1,856 1,759 1,661 1, 466 1,270 0,977 0,489 0 )/( mSσ  
   3/85,0 cmg=ρ        �Cو�Cن 2-
2��V-                                   ا���;� ا��(��� ��;�رو
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